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Candidates are requtred to gtve their answers ln their own
' - words as far as practtcable ’

T GROUP A
o I l!u’ltiple Choioe Type Questions )
1. ‘Choose the correct altematlves for the fouowmg

Sl - o ‘ lel-lO':_"

: i) -‘Retum type of a constructor method ls
a) int c ERE.
_b) | void ST
, j,d) nothmg as no speciﬁcation of retum type 15,

o _ , needed )
o _ i) Which of the following is used as a part of method' |
‘ ‘signaturemJava? L e .

a) throw . b)try RS

'¢) throws ~ d) finally,
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| 11y | Which one of the fouowmg is not truc about an |
' lnterface 0 | |
| ) A particular class can- implemcnt several
| vlnterfaces | R
e b) " .’lt”ca'n be unplémérited by a‘n:lnté"r'f'ace )
c) | It can be lrnplemented by several classes &
) : It can be partlally lmplemcnted by a class o
f_lv) “,Strlng Buﬁ‘elj__ cliﬂ’ers* from “Strlng’f, in the sens'ev . o
| a) String Buffer is used only to buffer data from
T anmput or output o | B |
. b)-., Strlng Buﬁer allows text to be changed after
instantiation o o
b c) . St‘ring Bﬁffer.hplds zero‘,lerigtn strings
| d)ﬂ.’ ’_\'Strlng Buﬂ‘er supports Unlcode
v Which of the following cannot be used as a method: | .
modlﬂer ? :
-a) .-private_: RN | b) © generic - ‘
<) v"prOtcc":tec':l. . d)_;. synchromzed -
‘ejotas 2
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Whmh of‘tﬁe' ‘fdllo‘w_ing;"ls not a ‘_rvesel_'yvéd wbrd m

Java?

. a) transient - b) implements

c) "include' o - : d) mstahée of.

A top’levei 'c!assthhou_t anymodiﬁer is accessiblc .

Cto

a) -:anyclass

b) any class within the same package : -

o ',kany class wifh the same ﬁle |

d)"'anysubcxassoftmsc;ass

vui) What wm be the result of running the followmg

o ;»vmethod withanmputofz ?

. 6/60145 -

| VPubuc int my Adder(lnt n) {

Retum 0 x 100 + ++n. o

... a)  The memod will fétum_'259 ,
) The method will feturn 103 -
" ©) The method will return 260

d) The method will return 104,
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Which of the fonowmg is used to detect the

selectton made by a user ona Chotce component ?

a) Actlon Listener : b) B Item Ltstcner

) Mouse Listener - d) Selection Ltstener

x

Contract ofa class is meant by

. | a)‘ Nur‘nber of methods tn‘the cla’ss

) Number of data flelds in the class

) Number of constructors in the class

b

e}

. b

. -
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d None of these

GROUP B

( Short Answer 'Iype Questions )
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Answer any three of the followlng . 8x 5= 15 )

Whatismeantbyspectﬁctmport‘? SRR 'kl»

The “String" type ts not a prlmitive type. but known

as a reference type Justtfy B -2

What ts the dtfference between an abstract class

andantnterface?‘ " T 2

| Explatn the prtvate protected prlvatc protected .
modtﬂerstnbrief o e - |

‘.Whatisthemncttonofﬁnally? S SN T

4 !
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4. a) : What are.'dlﬁ'erentstates_.lhlthe ,ltfe cycle of _'app_let;?‘.“ :
.‘,b)’ ) Sketch the life cycle ofapplet | : 3 “
5. a) ,How does an appllcatlon differ ﬁ'om an applet ? 3 -
: b) | What are meant by local applet and remote applet ?
. 6. a) ~“‘,Whatls prlvate constructor? - | _‘ | 3
, b) Is there any utlltty ofa prtvate constructor ? - 2
| GROUP C
(Long Answer Type Que'tiom) | |
Answer any three of the followmg 3x 15 45
7 "a')' _Write a program that checks whether the input, .
~ String (the string should be taken from user in
| ’runtlme) is. pallnclrome or not |
,. - b) Ho’w to call a_cquetructor from.ahother'ene ?
- c) If we ~deﬁne the ccn'structor- ln the private section |
"then“how we can create an ob}eet'of that class ? |
6/60145!‘ o o 5 o | R Turn over
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" d) “In Java the variables areinltialtzed ;'hefore" any
R 'method called even constructor Explam with an. = -
'example . S 8+2+2+3§.' '
8. a) ,erte a Program that takes a number mput and
prints that number in binary and hexadectmal-

L format | ‘ o
~b) What is the dltference between the tnterface and | %
| _ abstract elasa ? | | F
k o ‘Whatisautobo:nng? , i
.. d) What are the advantages of the vector class ?
i . | hf' - N . ~'_»7+3+2+3-.‘
o ». _. 9 - a) '._'”;What is thread ? How mereate a thread 1n Java ?
[ \“’i_;), wrm amsetxhe*f"{ ‘ blt)ck? Illustrate’ }
o o How to overrlde the toStrlng function ?
o e | | -(2+2)+7+4:,_
10. a) \Write a program that stores tnformatlon in the
S ., | 'array and then sort the array |
| b) *v'What is the difference between the character .

' stream and byte stream ?

- <) How does java garbage collector work ?
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) What is the object serializatlcn in Java ? mustrate .
‘ withancxample R o 4+3+3+5 ,
= 3 | Write short notes on any three. of the following _3 x ‘5 | o
o a) -:Strmg Tokemzer -
b) Vector Class v

c) | '-Wrapper Class

[}

d) ' Command une Adrguments B

D

e) *Absttact,.Class._ |

.g‘,‘,“

ey

)

A

es/o1as 7.
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